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paper.
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Al questions are compulsory.

Use of simple calculator is altowed.

It is advised to answer the questions sectionwise.
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Section A
(@ug ‘=)

“Limitations of financial accounting have made the
management to realize the importance of cost accounting.”

Comment. 4

A company manufactures 5,000 uniis of a product per
month. The purchase price of raw material is T 20 per
kg. The re-order period is 4 to 8 weeks. The consumption

of raw materials varies from 200 kg to 600 kg per week.

The cost of placing an order is ¥ 100. The carrying
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cost of inventory is 20% per annum. You are required

to calculate -
{y Re-order quantity;
(i) Re-order level.

{50 weeks in a year) 52
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(@)  Explain (e difference between Finarcia' Accoonting and

Cost Accounting. 4

(6} A manufacturer requires 800 units of a certain component
monthly. This is currently purchased from a regular supplier
at ¥ 50 per unit. The cost of placing an order is
¥ 60 per order and the annual carrying cost is
¥ 5 per piece. What is the economic order quantity (_EOQ)

for placing order 7 7

(F) fogm S dR drm dERE § R TR
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(@) fedt fafmian &1 & favw & &1 9l IW

(a)

(b

(=)

(@)
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yfa R W wF e gffer & wdq o
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qMUF F7 AP 7 5 Wd A1 Bi FARY 27 &
fau foderelt waRcw wen @ ¥ 7

What do you understand by ldle time, Overtime, Holiday
with pay and Casual wages 7 How are thesc wages treated

in cost accounts ? 7

Write a short note on ABC analysis of inventory control. 4
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A machine costs ¥ 3,00,000 and is deemed to have

a scrap value of 10% at the end of its effective life

(10 years). Ordinarily, the machine is expected to run

" for 2,500 hours per year but it is estimated that 350

hours will be lost for normal repairs and mainienance

and further 150 hours will be tost due to slaggering.

Other details in respect of machine shop are as under :

Annual wages of each of two operators
Rent of the shop (per year)

General lighting of the shob (per month)
[nsurance premium for one machine per

anum

50,000

36,000

5,000

24,000



Cost of repairs and maintenance per machine

per quarter 6,000
Shop supervisor's monthly remuneration 3,000
Power consumption of machine per hour

15 units @ T 3 per umit
Allocated factory overheads attributable to

the shop per annum. 80,000

There are five identical machines in the shop. The
supetvisor is expected to devote one-fifth of time for
supervising the machine. Compute a comprehensive

machine-hour rate from the above details. 11

T I H AF T 3,00,000 ¥ 3 IWD wuE
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50,000

30,000

5,000

24,000

6,000

5,000
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Section B
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Distinguish between actual and predetermined overhead

rates. 4

From the following information prepare a cost shect :

Cost of materials @ ¥ 13 per unit

P.T.O.
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Labour cost @ 2 7.50 per unit

Factory overheads ¥ 45,000

Administration overheads ¥ 50,000

Selling overheads T 2.50 per unit sold

Opening stock of finished goods—300 units @ 2 19.75
Closing stock of finished goods—250 units

Sales—10,250 units at a profit of 20% on sales. 7
Tfad S E-fadifa euferm =0 § faig
ity |

fefafas g0 ¥ ara-ws dar b .
Ol F @@ ot 13 v =R

M | %-7.50 Wa ged

TR FRETT 7 45,000

WIEAE IS 2 50,000
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fawl =ofere 7 250 7% faEle i

TR WS W afus iF—s00 T £ 19.75 TR
ECaF]

T OTE W sifm W25 =
SEi—i0250 @ foRl W 20 @9 W
O
(3reram)

Mr. Sharma is running a taxi for which the following infoarmation
is given. You are required to compuie the rate per kilomeires

10 be charged to earn a profit of 20% cash .

£
Cost of vehicle 500000
Rozd license {(annual) 7,500
Insuranee (annual) 7000

P.T.0.



Garage rent (annual) 6,000
Supervision and salaries ‘ 12,000
Driver’'s wages per hour 30
Cost of fuel per litre 30
Repairs and maintenance per km 1.75
Tyre allocation per km 0.70
Estimated life of vehicle kms 1,00,000
Kms run (annual) 10,000
Kms run per litre 20 kms

Charge interest at 5% per annum on cost of vehicle. The vehicle

runs 10 kms per hour on an average. 1

st v wF R wem ¥ fame ar # feAfafea
g & W ¥ afuwfaa i fFo20% 1 owg
afdd #@ & fog vfa fedder v @ =& &t
ey ?
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e & T 5,00,000
TgF wREH  (afdw) 7,500
s () 7,000
s R (arfee) 6,000
aym iR S ' 12,000
TR H Wfg " AEgll 30
yfd T T w A .30
yfa fedt momg SR w@-teE 175
IR emEed wia fadt 0.70
et w T aﬂwrﬁa‘ e 1,00,000
fElt =em (@) 10,000
fedt wem wfa et 20 Tt

ME H AR W 5% oNfE W oA AMgEl e
st ufa w2 10 fEHA So ®)
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Distinguish between Normal loss and Abnermal loss. 4

The net profits of a manufacluring company stood at

¥ 5.000 as per financial records for the year ended 3ist

March, 2012. The cost books, however, showed a net

loss of ¥ 4,200 for the same period. A careful analysis

of the figures from both the sets of books revealed the

following :

Income tax provided in financial books

Bank interest credited in financial books

Works everhead under-recovered in cost

books

Depreciation charged in financial books

Depreciation charged in costing books

Administrative averheads over-recovered

Rs.

4,000

2,500

6,'])0

8,000

1,850
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Loss due o obsclescence charged in financial
accounts 1,800
Interest on investments not includecj in cost
ACLOUNLS 12,400
Stores adjustments (Credited in financial
books) 300
Loss duc 1o depreciation in stock values
charged in financial books 1,500

You are required lo prepare a Reconciliation Statement

as on 3lst March 201Z. 7
(E)Wgﬁﬁtwaﬁﬁﬁﬁaaﬁmt

(@) & fafmie S0 § 31 W 2002 T W
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fodta gl 4 ffde s 4,000
fadia sl § W 9% =@ 2,500
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fodfte gl o wwita 0 &) 6,000
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{379d)
Differentiate between f.i.\'ed and variable cost. 4

The following is the information relating to a Contract

Account

Contract price T 6,00,000; Wages ¥ 1,64,000;
General expenses T 8,600; Raw materials T 1,20,000;

Plant ¥ 20,000.

As on date, cash received was T 2,40,000 being 80%
of the work certified. The value of materials remaining

at site was T 10,000, Depreciate plant by 10%.

Prepare the Contract Account. 7

(%) fer 3R fiad @@ # o wmw Fifag)
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(@) v sfow @ § wafm g fFrafafed § o

fae1 T 2 6,00,000; T(H T 1,64.000; FATT 39

? 8,600, sh=dl HI T 1,20,000, TIH T 20,000,

froa o W 7 2.40.000 THE W gL S AU
#:d F 80% ¥ WA W 99 g Wi F A
710,000 Wi FIH H 10% eI wH HIEE

dfggr @@ TR Fifew)
Section C

@vs ‘)

You are given the foilowmng information :

(@)

)

(c)

()

Sales Profit
Year 2011 T 2,00,000 12,000
Year 2012 2 2,50,000 17.000

Find out P/V ratio

Fixed cost

Break-even point

Sales to carn a profit of ¥ 10,000. 33,3,2
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aHl frefafes g 6 W OE

fammt ey
T, 2011 2 2,00,000 12,000
T4, 2012 72,50,000 17,000
(%) dydt
(@) fer arm
(M) wge-E fg

(F) T 10,000 HT“—;IEH F fou fa=i
or
(31gram)

{a} State any fowr managerial decisions in which marginal

costing is helpful, 4

(b) 600 units were introduced in Process X at ¥ 20 per unit,

500 units were completed and transferred to Process Y.

The normal process loss was 20% of the input and the

P.T.O.
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scrap is soid al T 3 per umit. The Yabour and overhead
expenditure incurred int the process amounted to ¥ 600,
You are required to show the Process Account, Nomal
Loss Account and Abnormal Gain Account. 7
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